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1. Please answer the following questions:

(1) Harry claims that the two equations )C/"'“(XQ)NZ = 70 and x,°+2x;(xy)
x, =100 are both valid indifference curves for him, can this be correct?
(5 points)

(2) John’s Marginal Rate of Substitution in Consumption is MRSc = y/x.
The market prices are py = 5 and py = 1. What is the equation of his
Income Expansion Path? (5 points)

(3) Mary always spends exactly half his income in foods. What can you
say about his income elasticity and price elasticity for food? (5 points)
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2. In a perfectly competitive market, industry demand is given by Q =
1000-20P. The typical firm’s average cost is AC = 300/Q + Q/3.

(1) Find the minimal efficient scale (MES) for the typical firm. (5 points)

(2) Suppose ten firms serve the market. Find both the individual firm’s
supply curve and the market supply curve. (5 points)

(3) Find the market equilibrium price and equilibrium quantity. (5 points)

(4) What is the typical firm’s profit? (5 points)

(5) Determine the long-run, zero-profit equilibrium. How many firms
serve the market? (5 points)

3. Two firms produce differentiated products. Firm 1 faces the demand
curve: Q; = 75 - P; + 0.5P;. Firm 2 faces the analogous demand curve:
Q, = 75 — P, + 0.5P,. For each firm AC=MC =30. Suppose firm 1
and firm 2 are in a Bertrand duopoly world.

(1) Find the optimal price reaction function for both firm 1 and firm 2. (5
points)

(2) In equilibrium, the firms set identical prices: P, = P,. Find the firms’
equilibrium prices, quantities, and profits. (5 points)
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